

WOODBURY COUNTY, IOWA CONTRACT

Kind of Work	Bridge Replacement with RCB Culvert					
Project No	L-B(M299)73-97	County	Woodbury			
THIS AGRE	EMENT made and entered by and between	Woodbury Cou	nty, Iowa, by its Board of S	Supervisors consisting of the		
	eith Radig, Rocky De Witt, Justin Wright,	· ·	- ·	- -		
Correctionville, IA, C	ontractor. WITNESSETH: That the	Contractor, for and in consid	deration of			
Three Hund	ed Fifty Thousand One Hundred Eighty and	d 94/100		(\$350,180.94)		
payable as set forth in the specifications constituting a part of this contract, hereby agrees to construct in accordance with the plans and specifications						
~ -	cations designated in the notice to bidders,			1		
Item No.	Item	Quantity	Unit Price	Amount		
Proje	ct: L-B(M299)73-97	Group 1				
1 (1	earing and Grubbing	0.22 Acres	\$21,000.00	\$ 4,620.00		
	bankment In Place	1,444 C.Y.	21.00	30,324.00		
3. Ex	cavation Class 10 Roadway	22 C.Y.	21.00	462.00		
	cavation Class 10 Channel	1,641 C.Y.	7.00	11,487.00		
	anular Surface On Road, Crushed Concrete	160 Ton	70.00	11,200.00		
6. Re	moval of Existing Bridge	1 L.S.	17,000.00	17,000.00		
	anular Backfill	101 C.Y.	125.00	12,625,00		
	cavation Class 20	1,595 C.Y.	14.00	22,330.00		
	nuctural Concrete (RCB Culvert)	207.4 C.Y.	575.00	119,255.00		
	inforcing Steel	31,642 LB	1.57	49,677.94		
	mporary Stream Diversion	1 Each	7,500.00	7,500.00		
	nce, Field	100 L.F. 2 Each	10.00 500.00	1,000.00 1,000.00		
	fety Closure affic Control	1 L.S.	5,200.00	5,200.00		
	obilization	1 L.S.	52,000.00	52,000.00		
	ulching	0.60 Acres	2,500.00	1,500.00		
	abilizing Crop – Seeding and Fertilizing	0.60 Acres	5,000.00	3,000.00		
	• •					
	TOTAL BID			\$350,180,94		
Said specific	cations and plans are hereby made part of ar	nd the basis of this agreemer	nt and a true copy of said pl	ans and specifications are now on		
, -	County Engineer under the date of May 2,			· · · · · · · · · · · · · · · · · · ·		
	ideration of the foregoing, the Contracting		pay the Contractor, promptly	y and according to the requirements		
of the specifications th	ne amounts set forth, subject to the condition	ns as set forth in the specific	cations.			
That it is mu	itually understood and agreed by the parties	hereto that the notice to bio	iders, the proposal, the spec	cifications for Project No.		
L-B(M299)73-97	in Woodbury County, Iowa	a, the within contract, the co	ntractor's bond, and the ger	neral and detailed plans are and		
	contract between the parties hereto.			1		
That it is fur	ther understood and agreed by the parties o			and completed on or before:		
Approximate Starti	ng Date Specified Starting Date		st 22, 2022	Number of Working Days 65		
The Airest	the essence of this contract and that said co					
It is further understood that the Contractor consents to the jurisdiction of the courts of Iowa to hear, determine, and render judgment as to any						
controversy arising hereunder.						
IN WITNESS WHEREOF the parties hereto have set their hands for the purposes herein expressed to this and three other instruments of like tenor						
as the	•		-			
	day of	, 20 22				
Approved						
10011						
By Dand K. Dyor By						
Contractor: Dixon Construction Contracting Authority: Woodbury County Board Chairperson						
- G 21/1	n. 5 31 17077					
Date Date Date						

Form 181419 (12-18)



CONTRACTOR'S PERFORMANCE BOND

Bond Number: IAC592283					
Contract I.D.: 1-B(M299)-73-97					
County: Woodbury					
KNOW ALL PERSONS BY THESE PRESENTS: That we,					
Dixon Construction Co.					
of P.O. Box 47, Correctionville, IA 51016-0047					
(hereinafter called the Principal) and					
Merchants Bonding Company (Mutual)					
of P.O. Box 14498 , Des Moines, IA 50306-3498					
(hereinafter called the Surely) are held and firmly bound unto the					
Woodbury County (Iowa DOT, County, or City name, etc.)					
(hereinaiter called the Contracting Authority) lows, in the sum of					
Three Hundred Fifty Thousand One Hundred Eighty Dollars and 94/100 dollars					
(\$ <u>350,180.94</u>					
lawful money of the United States, to the payment of which sum, well and truly to be made, we bind ourselves, our executors administrators, successors, and assigns jointly and severally by these presents. THE CONDITION OF THIS OBLIGATION IS SUCH, THAT whereas the above bounden Principal did enter into a written contract with the Contracting Authority to perform Bridge Replacement with RCB Cuivert					

Copy of which contract, together with all of its terms, covenants, conditions, and elipulations, is incorporated herein and made a part hereof as fully and completely as if said contract were recited at length; and whereas, the principal and surelies on this bond hereby agree to pay all persons, itims, or corporations having contracts directly with the principal or with subcontractors, all just claims due them for labor performed or materials furnished, in the performance of the contract on account of which falls bond is given, when the same are not satisfied out of the perition of the contract price which the public corporation is required to retain until compiction of the public improvements, but the principal and surelies shall not be liable to eath persons, firms, or corporations unless the claims of said claimants against said portion of the contract price shall have been established as provided by law.

Now, if the principal shall in all respects fulfill his said contract according to the terms and tener thereof, and shall satisfy all claims and demands incurred for the same, and shall fully indemnity and save harmless the Contracting Authority from all costs and damages which it may suffer by reason of failure to do so and shall fully reimburse and repay the Contracting Authority all outlays and expense which it may incur in making good any such default, then the obligation is to be void and of no effect otherwise to remain in full force and effect. Every surety on this bond shall be deemed and held, any contract to the contrary notwithstanding, to consent without notice:

- To any extension of time to the contractor in which to perform the contract.

 That the bond shall remain in full force and effect until the contract is completed within the specified contract period, within an extension thereof, or within a period of time after the contract period has elapsed and the liquidated damage is being charged against the
- To any change in the plans, specifications, or contract, when such change does not involve an increase of more than 20
- percent of the total contract price, and shall then be released only as to such excess increase.

 That no provision of this bond or of any other contract shall be valid which limits to less than five years from the completion of the contract the right to sue on this bond for defects in work quality or material not discovered or known to the Contracting Authority at the time such work is accepted.

This bond is to be considered a performance bond and secures the Contracting Authority the right to recover from the contractor on account of material or labor entered into the work or work performed not in accordance with the contract, specifications, or plans. The contractor does not by this obligation guarantee to maintain the work for five years.

Form 181419 (12-16)

, J. C

PIOWADOT

CONTRACTOR'S PERFORMANCE BOND

Bond Number: <u>IAC5922</u>	83	
Contract I.D.: 1-B(M299)73-97	
County: Woodbur	ν	
IN WITNESS WHEREOF, Dixon Construction Co. By: Daniel R-L President		Merchante Bonding Company (Mutual) By: Abigail R. Mohr Address: P.O. Box 14498, Des Moines, IA 50306-3498
Ву:	Principal	Surety By:
	Title	Address:
Ву:	Principal	By:
	Titlo	Address:
	 	Supervisors to the Contracting Authority: County,
this	day of	*
	Signature	Title
	racts where neither the DOT nor a County	Board of Supervisors is the Contracting Authority:
This bond approved by the		(Contracting Authority)
this	day of	(Contracting Autronty)
	Signature	Title



Know All Persons By These Presents, that MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., both being corporations of the State of towa (herein collectively called the "Companies") do hereby make, constitute and appoint, individually,

Abigall R. Mohr

their true and lawful Attomey(s)-in-Fact, to sign its name as surety(les) and to execute, seal and acknowledge any and all bonds, undertakings. contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

Surety Bond #: IAC592283
Principal: Dixon Construction Co. Obligee: Woodbury County

This Power-of-Altorney is granted and is signed and sealed by facsimile under and by authority of the following By-Laws adopted by the Board of Directors of Merchants Bonding Company (Mutual) on April 23, 2011 and amended August 14, 2015 and adopted by the Board of Directors of Merchants National Bonding, Inc., on October 16, 2015.

"The President, Secretary, Treasurer, or any Assistant Treasurer or any Assistant Secretary or any Vice President shall have power and authority to appoint Altomeys-in-Fact, and to authorize them to execute on behalf of the Company, and eltach the seal of the Company thereto, bonds and undertakings, recognizances, contracts of indemnity and other writings obligatory in the nature thereof."

"The signature of any authorized officer and the seal of the Company may be affixed by facsimile or electronic transmission to any Power of Attorney or Certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually fixed."

In connection with obligations in favor of the Florida Department of Transportation only, it is agreed that the power and aut hority hereby given to the Altorney-in-Fact includes any and all consents for the release of retained percentages and/or final estimates on engineering and construction contracts required by the State of Florida Department of Transportation. It is fully understood that consenting to the State of Florida Department of Transportation making payment of the final estimate to the Contractor and/or its assignee, shall not relieve this surety company of any of Its obligations under its bond.

In connection with obligations in favor of the Kentucky Department of Highways only, it is agreed that the power and authority hereby given to the Attorney-In-Fact cannot be modified or revoked unless prior written personal notice of such intent has been given to the Commissioner-Department of Highways of the Commonwealth of Kentucky at least thirty (30) days prior to the modification or revocation.

In Wilness Whereof, the Companies have caused this Instrument to be signed and sealed this 23rd day of May, 2022.

MERCHANTS BONDING COMPANY (MUTUAL) MERCHANTS NATIONAL BONDING. INC.

President

STATE OF IOWA COUNTY OF DALLAS ss. On this 23rd day of

On this 23rd day of May , 2022 , before me appeared Larry Taylor, to me personally known, who being by me duly sworn did say that he is President of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC.; and that the seals affixed to the foregoing instrument are the Corporate Seals of the Companies; and that the said instrument was signed and sealed in behalf May 2022 of the Companies by authority of their respective Boards of Directors.



POLLY MASON Commission Number 750576 My Commission Expires January 07, 2023

Notary Public

(Expiration of notary's commission does not invalidate this instrument)

I, William Warner, Jr., Secretary of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., do hereby certify that the above and foregoing is a true and correct copy of the POWER-OF-ATTORNEY executed by said Companies, which is still in full force and effect and has not been amended or revoked.

In Witness Whereof, I have hereunto set my hand and affixed the seal of the Companies on this 23rd day of May, 2022.

NG CO William Hurner Jr. Secretary